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Creneral Inslrulttimns H

1 Candidate must write his'her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the lirst page.
Also check to see that the questions are in sequential order.

3 For the objective type of questions, vou have to choose any one of the four alternatives
given in the question ie. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit 15 fixed for answenng objective type questions,

5 Making any dentification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate,

6 Write vour Question Paper code No. 46/058/1=A on the answer-book

7 {a) The Question Paper is in English/Hindi medium only. However, if you wish, vou can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malavalam, Kannada, Telugh, Marathi,
Oriyva, Guyarati, Konkani, Manipun, Assamese, Nepali, Kashmin, Sansknt and Sindhi,
You are required to indicate the language you have chosen to answer in the box
provided in the answer-book

(b) I you choose to write the answer in the language other than Hindi and English, the

responsibility for any errors/mistakes in understanding the question will be yours only.
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( IMPORTANT INSTRUCTIONS }

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus™ and the other based on pre-revised study
maternal marked as *(Md Syllabus™

2, New Syllabus is compulsory lor those who have registered for 2012-13
(Block-1}) admission. (Those who are appearing in April 2013 under
“New Syllabus™.)

3. Old Syllabus is compulsory for those who had registered before 2012-13
{Block- 1) admission.

4. Answer only one Question Paper from given two Question papers.

LA

Learnefs are not allowed to mux questions from the two given (Juestion Papers.
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SCIENCE AND TECHNOLOGY NEW
(fasm w i)
(212)

New Svllabus / =31 T=H

Time - 112_ Hours) [Maximum Marks - 85
g 2l g [y : 85
MNote (1) All guestions are compulsory.

{2) | Marks are given against each question.

R« (1) | Wl weT aEm O

(2) WHAE UTT & HE SHd HHT ST T

1 1000 micrometre can also be wrtten as |
(A) 10-3 m (B 10 m
(Cy 107 m oy 10° m

1000 aEEwMET & fao T @ wwar & oo

(A) 107 A (B} 107 #
() 1077 A1 (D) 10° 4
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2 Which of the following is not an SI unit 7 1
(A} Metre (B} Litre
(C) Ampere (D) Kelvin

frafiafigg o &= @ S] o a5 B O7

(A) wreT (B) Tt
(C) TET (D) i
3 Identify which of the following reactions 15 a displacement reaction 7 1

(A) O+, —Ci,

(B) Cal', —Cal+C0,

(C) A e

(D) AgNO, + HCl— AgCl+ HNO,

vraim fm Frfofan afbfemet & @m @ sfefen Rraos bl #7
(A) C+0, =0,

(B) CaCOy —Cal+C0,

(Cy  Zn+CuS0; — Zn S +Cu

(D) AgNCy + HOl— AgCl + HNO,

46/05/1—212_A |
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4  Which of the following is not an example of corrosion 7 1
(A) Rusting of iron
(B) Wearing and tearing of moving machine paris
(C) Tarnishing of silver
(D) Formation of green coating on copper
Fraffias # @ demm @ zawe 4@ &7
(A) @ wT FHT AT

(B) wigsire =gt & oot & feram

(C) || w1 wE T

(D) &9 uF = i & A

5 A body weighs 10N in air and 7N in water. The buoyant force exerted by 1
water on the body is -

(A) 10N (B) TN
(C)y 3N (D) 17N

feit e &1 amg & w0 10N o @@ & TN #) fie o AW @ s @

TeEEE ad E o
(A) 10N (BY TN
(C) 3N Dy 17N
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(] The figure given along side shows displacement versus position graph of a wave 1

for a period of 2s the wave is travelling with a velocity

Lrmidsiaei)

(A} Imms™! (B} Tms~!

(Cy  Tmrhs! (D) 3 5ms!

fomr fam |9 Tt @ @1 25 ggEta @ e Rl oe gwion o ¥
T T

(A) Tmms™! B) Tms!
(C)  Tmms! (D) 3.5ms!
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7 Ciene combinations suggest that if father's gene is IA and mother's gene 1
is IB then their offsprings can have blood group :

iA) A or O only {B) A or B only

(C) A B or AB only (D) AB only

A AOMAT O% Hehg S@ % 6 O Ty ® WM 1A ¥ T U w1 IB %
@ wafy & =fur oge & www ¥

(A} TEs A AT 0O (B) %= A 91 B
(C) %aw A, B T AB (D) %F=W AB
8 A given guantity of water will have minimum volume at - 1
(A) 0°C (B) 4°C
(Cy ®C (DY 12%C

forg am [T 9w & B0 M0 gEAE @ wWEdd gaad w5 9% b

(A) 0°C By 4%C
(C) 8°C Dy 12°C
9  Which ol the following is an inorganic compound 7 1
(A)  Sugar {B) Common salt
(C) Kerosene (D) Aleohol

faffigs o we @ A awrfas ¥ ¢

(A) = (B) WEHW T9E
() it (D) UERETH
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What are derived umits 7 Find the derved 51 umt of density from fundamental

S1 units.

S A # E7 O # sge S| W | S| A 8§ owa St

How will vou dilute concentrated sulphuric acid 7 What will be the affect of

dilution on it pH ?

e AE s W @ A T FH HOT A & 366 pH 9T F W B Y

An element X' has seven electrons in its outer most orbit and another element
"Y' has four electrons in ils outer most orbit. If they combine to form
a compound, what type of bond will be formed between them and why 7

Write the formula of the compound formed by the combination of X' and "Y'

LG E B A 1 I - T B T 1
4 et B o ool % g ° g A Tee oo & oadw wnf E6
A ow e N T Y & wuem § o9 difte o g3 fafam

2
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14 Heavy army tanks are made to move on wide continuous chain belts, why 7 2

W WA i R O WA o9 UE UL 9w B O & 9 a9 A o,
w7

15 Describe clark’s method for removal of temporary hardness of water. Write 2
chemical equation involved.

W AT A B 4T BT B T (A4 & 99 & s raEhis
T fefiam

16 Can {1""1'“I solution be stored for 8 long time in an iron bucket 7 Explain 2

T HOT| Fhe & fAead #1 W W9 a9% W 9 9l § TET || HEar £
TN H[AT |

17  Calculate the number of molecules in 45g of water. 4

(Molecular mass of oxygen is 32u and that of hydrogen is 2u)
45 UM AW A S W OHEN W qiwme i |
(STofI= @ HUHTY 320 G EEETAA @ HUATY 2u E)

18 Citing example state four merits of mendeleev's classification of elements. 4

AT ¥ FU BEErs m fn oo e & it @ uw gl @ e St
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19 A body of mass 2 kg is moving with a uniform speed of I0ms—!. A force of 4
6M is applied against the direction of motion. How much distance with the body

move i 55 after that ?

7 fFm zemE w U fi= 30ms! & Uw wAE S 8 eaE ¥ g9 9T 6N @
UF gW T i fagiE fen § wwmn W ) ogee 9 e Ss 9w R gf

ah Fm

200 What is (i) thermostat (i} bimetallic strip. 4

With the help of a simple circuit diagram explain the working of a bimetallic

strip as a thermostate :

(i) aroeamtit, (i) Poofes ofesr @0 6t ¥

TH |9 WOd aT0E & geEd o aueEt 6 us fEahas uiees
% it HY HA E7

21 Image of same size is formed when an object is placed at 40cm in front of 4
a concave mirror. Draw a labelled ray diagram to show image formation
when the object is placed at a distance of 30cm from the same mirror.

Describe the charactenstics of the image formed

WE i fam uw sEEw =0w & AeE IR 40cm & O T TEN WA %
A1 SHH GUF AT % wiates aqa By ouw Swites e artg gm0 g
v & AEe 30cm W O o9 @) e ow wiafre s awign wffe
F AW W AU HiT
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2!  Draw a labelled diagram of a neuron, 4

UE A BTG w AW HE FE

25 In the hght of Darwin's theory explain the terms : Adaptations and inheritence 4

Cive one example of each

T % fEra & w=W § oge Ud saEid uE @ sgmen e

THF & UH UF & LA

24  {a) Defife The following lerms 4

i | Metallurgy

(i} qnation

{11) Thermite process

(b} How are highly reactive metals like Na, & Mg extracted 7

(a) FrfmfEa wef ® wioam ffan -

(i) urg A
(i) FremE
(iil) U9EE wEW

(b) orfaes TEmsim wmgeli F9 f&F N, & Me &1 8 ura fEm ow we@ ¥ 7
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25 A person is having cough, chest pain and low fever for more than 15 days. 4

He is losing weight and appetite also.

(i) Name the disease the person 15 suffering from

(1) Is the disease communicable 7

(i) Wnte the name of causative orgamism for this disease 7
(iv) What steps will vou take if the desease is confirmed 7

el wf &1 15 e @ afie oog & @i, 9 § = ot wem
qaET ¥ TEE gE &Y g9 0 & AW @ W ¥

(i) 39 =iE & A1 T & IEw AW aaEu)
(i) T HE UE weEt 7 ¥
(ili) 29 [P & e g @& A oy

(iv) T [@ gt #1 W 9T M9 T ®HEW Tamd f

26 Explain how (i) Penguins and (i) Camels have adapted to survive in their 4

environments 7

TIEET TE () TEA AW () ST e miE § wfgs a1 e F e e
WETT WHeE ET EF

27 What 15 an earthquake 7 How 15 15 severity measured 7 Mention two 4

precautions vou will keep during an earth quake

qFFT R 7 OTEEl v @ W e oW 7 uE =7 mmafhl gamn &
o Yk S TE
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28 Describe Rutherfords model of atom. What were the short comings of this i

model 7 How were these addressed by Bohr in his model of atom 7

TORE & U] HiEw o gviA #ifen) s owimw o e &l o4 v
AT A WU wiEe § 5 wwal w1 few e gr fEe

29 A bulb s rated at 4W, 10V, &

{a) Find the resistance of the bulb and safe current for its maximum glow
ib) How can vou run it at 20V safelv 7

ic) Find the power consumed when two such bulbs are connected to a

5V supply In

(1)

TE A AW, 10v sfiea &

(a) 59 Wew & a0 waow ot sfbwas gl 4 & R ogpd v
T Hehl AWl UM W WA T it

(b) 20 @E & | & W9 TH G H GUGT UG AT HE HA 7
(c) %O WEM & o ¥ 9% SV 9 & e

(1) 4iees, (i) |9 WA 0 W W A R fRe it IugE wr

30 What is meant by genetic disorder 7 Name three genetic diseases. Describe f

the cause of each disease.

wrdlys fomr & w0 oared B¢ 9 argdlis O & oam Refed ) usde O
WA F AU R
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SCIENCE AND TECHNOLOGY OLD
(e w dehfe)
(212)

Old Syllabus / T 9T=FA

Time - 1% Hours] [Maxamum Marks - 85

gy 2l g [ : 85

Note @ (1) All gquestions are compulsory.
(2)  Marks are given against each question
FEsT 2 (1) rrdere—sthem
(2) | wirE wsm & o ud o RBo o ¥

1 Which of the following 1s the property of electromagnetic waves 1
{A) Transverse waves
{B) Require matenal medium
(C) Generated due to mechanical vibration of particles of the medium
(D) WVelocity, is 330ms |
frfefes & & @9 @ o fage gawm a0 o= ¥ 7
(A) aquee T
(B) #ifwe gregm &1 angsasa B
(C) =rzm & weil & mifss do F wwd ¥

(D) 4 330ms! ¥
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2 The glass that is vsed for making lenses and spectacles is 1
(A)  Borosilicate Glass (B) Crooke's Glass
(C) Hard glass (D) Soda-lime glass

wal A 9w W TvEm e A 9 @i o

(A) driffahe @i (B) & &9
(C) ®ei @ (D) ®E WER ®"

3 A force of 125 N acts on a body of weight 25 N. The acceleration produced 1
in the body is (g = 10ms2)

(A} 0.5 ms™? (B} 5 ms™

(C)y 50 s (D) 500 ms2

25 N @ feel wwg uv 125 N @ aw @ wm ¥ oawg o (3w mee e

(g = 10ms)
(A} 0.5 ms™? (B} 5 ms™
(Cy 50 ms! (D) 500 ms
4  Which of the following is a heterogeneous mixture 7 1
(A) Tap water By Air
(C) Muddvy water {D) Brass

frfefas & & & fawpit e #7

(A) =N W W (B) =g
(C) #fen W (D) =
46/051—212_A | 16 (OO RE R R 1 Contd...
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3 Voice of a woman is usually of higher pitch than that of a man It means 1
that as compared to a4 man her voice has a :
(A} longer wavelength (B) higher time period
{C) higher frequency (D) higher wave-velocity
=l # WA w A W UEY s % g § wfiw wen ¥ ogowr wd
5 qEw @ oan TEA wE B R
(A) wfom welt Fims @ (B) wiym smeEe &
(C) afam smefa =i (D afus i 37 &)
6  Which one among the following is the source of the vitamin which helps in 1
clotting of blood and whose deficiency results in excessive bleeding from wounds 7
(A) Gregn Vegetables {B) Butter
(C) Fish (D)  Milk
freifefiald & &9 @ o0 Feife @ a" & o e & s d g w §
iy Tt @0 & Ol | wiaw T e f 7
(A) wh it (B) e
(C) =t (D) 34
7 If the mass of a body is 100 ng, it is the same as : 1
(A) 107 (B) 10
(C) 1077g (D) 1ollg
aft fedl &g w0 g 100 ng B @ mE osEw & g P B
(A} 10 (B) 108
(C) 107y (D) 10y
46/08/1—212_A | 17 [T | Contd...
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8 The empirical formula of an organic compound 15 CH,. Its molecular mass 15 56, 1

The molecular formula of the compound is - [At. mass - C = 12.0u, H = 1.0u]

(A) € Hy

(C) C,H,

(B) CH,

(D) C;Hg

fedl wrdfre dfie & geeEl g3 CH, ) gesn &) s=mm 56 ¥

difts @1 onfras |53 & (ITAm] FeAE

(A) C,H,

(C) C,H,

(B) CH,

(D) C.H,

C = 1200, H = 1.0u)

9 A train toek—ShFomim—to—travehetweemtworcities—with—am—average  speed of 1

B0 kmv'h

(A) 240 km

(C) 264 km

The distance between the two cities is

(B) 280 km

(D)

272 km

80 km'h @ HET °W W Um £ 4 3 SEL & Ag @ 9 &7 § 3 h 30 min
W ST SED & drg @ g F o

(A) 240 km

(C) 264 km

46/05/1—212_A |

(B) 280 km

(D)

18

272 km
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100 State any two charactenstics properties of womc compounds, 2

watys diftml & R0 @ sfwenafirs qeeel & s

11  How does 'DMA finger printing' help in identification of criminals ? 2

A @ yEEE & W Stuan e {Er fee wew geman o £7

12 Write the 51 unit (i terms of basic umits) of work and also s special name 2

and symbol.

F F SLE
W Tt

WitH

e

13  Wnie the relations befween 2

(a) initial velocity, w, final velocity v, acceleration, & and the time taken by

a body. .

by imitial velocity, w, final velocity v, acceleration @ and the distance

travelled by a body, s
Fretfofige & 4Ma wEy fafeg -
(a) WIEMSE W, w4, WA A, v, WAV g G 9% AW WA TET W, 40|

(by wriftsrs dn o, afm 4w, v & a0 ol g om0 oag oA 0d gf s

46/08/1—212_A | 19 [T | Contd...
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14  Where would the element having the following properties be located m a group 2
of the modern periodic table at the top or at the bottom, in each case 7
(i) The least ionization energy
{11} The smallest ionic radius
{1i) The least metallic character
(iv) The least electron affinity
wyfw amad anett & Frafafaa gt @ o= el op § w5 oW oW oA
%, Fr s A 7
(i) =ITaW AT
(i) W99 BRI s@\HE e
(iii) A e At
(iv) =TT Feag T
15 A stone {5 thrown vertically upwards and afier sometime it comes|back and 2
falls on ground. Draw the speed - time graph of its upward and gdownward
journey agsuming that it took time 't during its upward journey.
TE UM w1 meat FEwm # w3t @ e wEm W ¥ s §9 ouee uyed T
qE AT TWEE 9T T ) TEer S # ot 9" @ o &t o &
- dgY TR ArdigE wifed ) me @i TR osoe wur w0 s g & e
v oag T
16 What was the effect of : 2
(i)  Kinetic energy of colliding planetesimals and
(i1} Energy released due to disintegration of radicactive elements on primitive Earth 7
Mame and describe the process that occured as a result of it
(i) wepal % ZeTH & fed wEl A
(i) el ael & TEEEA W IS 2 HAl F YEEmA YE] U1 F UWE Fanf
% ulhvrgEEY B9 9 WEH & 9 adid 9 SET 9 wifad )
46/08/1—212_A | 20 [IRMARARI T 1 Contd...
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17 Distinguish between the following 4
(i)  Organ and tissue
(i) Protective and conducting tissues in plants.
Frfoitaa % W5 @it
(i) & ot waw
(i) vl o W o damEw EAaw)

18  What 15 a mechanical wave 7 Name the two types of mechanical waves. 4
How do they differ from each other 7
it T F OEF S WER W diTHEs WO R M SAEd) 9 U% ZHL 6 W
T T wmr E7

] Which mirmor woutd Ton UsE 10 DIoecT am imverTed o TiEemitied il'l'lﬂ_gﬂ of a 4

the wall of your room and why 7 Where will you placg the candle 7

y diagram for the formation of the image.

A | wEE oW A uY us gmEe] & e el amafile ofrfee wme ®
ol w5 S T L L R L N . LN N . ¥ R %
fgro s amge

20 What are allotropes ? Name any two allotropic forms of phosphorus ? 4

What happens when phosphorus reacts with -
{a) Concentrated nitric acid
ib) Caustic soda

Write chemical equations inveolved.

AITEY FG E7 WEERE % [l 91 TiEdi & AW fArad )| #m e oTd
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21 What are different categories of domesticated amimals 7 Wrte one example 4
of each category. How animals can help to make the soil fertile ?
e iHT @ At dftrl wmeodr ¥7 uede 49 o U Us Iaredw died |
uy] g W SEdT g H B wer s E 7

22  What is a green house 7 Which gases have converted earth's atmosphere into 4
a green house 7 Explain how s it leading to global warming 7
i wrema o ¥ 7 fie b 3 gl & angdew @) deowma A ofafde s R
¥ ¢ mmen wifed 5 sod fem wen whedm aos @ om & F

23 What are| gangue and flux 7 Write the reactions involved between 4
i) A basic gangue and
(i) An lacidic gangue with suitable flux in each case |
T 3T e R

(i) & s

(i} st A o St meEw & omw genm sfbiead fafad

24 Which eclipse occurs on a fullmeon day 7 What is the cause of this echpse 7 4

Explain with the help of a diagram.

gt % R EEom e A £7 3@ W W SN w F 7 Um RE @ wEwe
U oEe it |

46/08/1—212_A | 22 [T | Contd...

www.FirstRanker.com



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

:l » FirstRanker.com

A F s cho
Firstranker's choice www_ FiratRanker.com www.FirstRanker.com

25  Draw a labelled diagram of human heart. 4

T % OAEd @ UE AR 6TE T |

26 Four resistors of resistance 10 ohm each are jommed i series to form one 4
combination. Four such combinations are then connected in parallel.
Calculate the total resistance of there combinations.

U 10 M & e ufgel w9 dvies o WiEwT Us A9 s[rEn T oY un
HATAAT 1 AT & § A TN I WA B Fe WA Ui iy |

27 Write two important differences between communicable and non-communicable 4
diseases giving one example of each and write the cause of each disease.

WAE [T UH AN 3d §d, Gemd A i wwmms % AE 9 e
W=7 g | Wedw T &1 wrew e

28 Define . i
(1) Oxidation

(i1} Reduction and
(i) Redox reaction

Write two examples of redox reactions and identify the oxidizing agent and the
reducing agent in each case

(iy woEEa

(i) @TaE &

(i) T=iwm arfalwae

w1 ufaie & = affsmet & @ swo fefgg o v & agams
S E G e T L SR I
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29  What are the raw matenals required by plants to synthesize theirr own food 7 &

Explain how different external factors influence the rate of the process involved.

i & AT WA HIeihd ®id & Y ®A- W wed 9gidl sl aEygdal wel & 7
HaE wE & T F fafhe gl se e wwn uwiaa e ¥, W Siag)

30  (a) Explain the following - i

(1)  Cooking 15 easier in pressure cooker,

(i) A beam of white light splits into seven colours when passed through

a glass prism.

(k)  Distinguish_between nuclear fission and nuclear fusion.

ja) Trefofas = =men wifqg -

(i) | Usm FHT ¥ WA UHAT AWA OEE ¥

(i) 9 9O WEw TRET =i o (Ued W BT W ¥ oWl 9% || O H
Tawa w1 A #)

(by =nfhala Rrdea ot sl dea & 97 @ifE
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